Unit 7 Review Problems

Matching Match the notation with the term that best describes it.

B i B M. Center
6 2. FH . Chord
A
D 3. ¢D ﬁ Diameter
4. AB . Radius
2 /E! B i
AR5 C /E( Point of tangency
C 6. AD )f Common external tangent =
W 7. 4B ﬁ/ Common internal tangent
F 8 DE ,14 Secant
Multiple Choice Choose the letter of the best answer.
260-150 Y _
9. Find mPQR. { o mPaR = 360-150
o P =
A) 285 )
) 20° lmek~ 240 ’
B) 105°
)
@) 210°
R
D) 185°
10. Find RS.
4 a(a+)(): 3(31’1)
A1 ’ nrax=A+al
CE %=13
‘RSﬂ'b |
11. How many arc degrees are in the minor arc?
@ S2.s¢ 2 05 * % (360°X-X)

05> % (360-2X)
150 = 360 -2X

D) Not enough information
-230=-2X

x= WS



oyp-angles are Supplementony

12. What is m£TQR? XS HIX416=180

A) 65° gX+30:1€0 &
70° glewo ||0+m‘TQR-\
) 110° X=a0 \ merQr=10°
D) 115°
(4x +30)° S
4(20)+30
=00’
13. Two diameters of ®P are AB and CD. Given that mBC = 70°, what is m£ABC? (hint: draw a picturel)
A 35 <RBL s nseribed 10 AC ¢ 0° not drawn “\’|
23 lo° sale
W ncor ek
C) 700 gb ml‘nu' 1(\\“) 95 n &
. ¢
D) 110 1o°
: 0
10°
Open Ended

TU is a radius of © U and ST is tangent to O U. Find the value of x.
3
x%4qb = (X647

2
75%100%: X 1 96 x4+ Q20 < (k+64 JOx+oM)
S -‘
5626 +10000=X ‘ 84 ‘ xl.\.ql\bez"’ 1A X + 4046
~yZ
15626 = X q21b = 18X +4096

@ 5130 - 138X
‘Xc% l

PS and QT are diameters of © U. Find the indicated measure.
o 7]
16. m<QUR = _120.1 17. mPQR = 136

= © e o
18. mSTQ = 149.5 19. mRST = 5!

20. mTP = 645" 21. mRQT = 3009°

#17. 16.6+120.9 =1364
#(8. 15.6+164.6 ¥1G.S <1406

o

H19. 4rp+15S5=064l

#31. 1204+16G+145



Find the value(s) of the variables.

P

22. 23. K
5x+ 60)° 33.19 x°
23%+25) =5 % 460 = M
D 60.2% L
LR+50= 6% 160 —
X450 260 o251 mML= 2(334)  meLKM< S (6b.2)
| x=t0 miasbo2 | metkm= 3. |
25. ° - 26.
P o
68°
9g° Q P ]
46°
s R S
XTL + z =
3(aAIC)  xay=180 B} P-horng)  X¥SFIE
x=L oS4y =\ |x=zz°l
s(an) Y : 9=1(m) ‘
- 9= . |
[x<0s | y- 53
8. 29,

\x‘_‘ __,.-/’

(x+4)(xt1) = 12(%+2)
K40 x+9 = 12x+24

X*-10-16 0
(x-5)(x+3)=0

e

24, (13,\"
e
54: 5 (13%-0-(5x+\4)) a8 =8x
54=%((3x~b—sxy l X=\o ,
54=1 (¢x-30)
(0§ =g X -20

D F
(1TE

g*
™ /(5x + 2

27.

54260

o)

5xt3: 3 (a4a -11§)
Sxt3=3(1a4)
5%Xt3 =63

(3%)(3%)= (2x) (2X+10)
A’z 4x?4 20X

I 3x
2 T

7% EX-20%X<0

5% (x-4)<0

5xz0 x4z

9{0 ,‘Xﬂ ’
r
canthawe

2eyo lengths

30. In the diagram below, BE =7, BO = 14, AD = 6, and CD = 12. Find the values of xand y.

P 13)13) = 6 (btarIv)

19y = 6(x+30)
MY 6X%+120
EUERY

E

(LD &

W) = (y)0)

561y

[s¢ ]




31. Suppose a space shuttle is orbiting at an altitude 180 miles above Earth (AD). Use the diagram to
find AB, the distance from the shuttle to the horizon? The radius of Earth is about 4000 miles. Round

your answer to the nearest tenth.
%> +4000" = 4ig0

X+ 16000000 = 17472400

X< 1472400

x=1212.4 mmsl

32. Find the perimeter of the circumscribed triangle.

7 P:14T+6+b+5+§

‘P%b umts i

3Ix*-a1
%’:9

\X=3 or X=-3 )

Cpecause 3(-2)% 3(a)= a7 @

34. A hummingbird is flying toward a large tree. When it is 27 feet from the center of the tree, its lines

of sight form two tangents.
Hummingbird
a) If the radius of the tree is 7 feet, then please find AC and
BC to the nearest foot. o — d1-7=a0
e x’1%:a7° / pF g X 2ab
F;[i:;%ﬁ7 X444 =139 Xz ab ft
B

b) What is the portion (mAB) of the tree’s surface that the
hummingbird can see? Round to the nearest tenth.

I N\
B w$9"§a m PR =15 1"

’
- 3%05"'(;11) l e \90°}

Y= 16°

5,



35. Find the center and radius of the circle defined by x2 + y2 + 4x + 8y = 5. Then graph the circle.

| xe H_vgtigyr o cg e M o+lb Fw=ay

— ~ — W Jé(g): ql=(b
(43 )(x+3) + (Y+4) (Y +y) = 35

\

(x+a)’+ (y+4)* = a9

v

center: (-a,-4)
radius= V25 = 5

36. Prove or disprove whether or not the point (i,%) lies on the circle (x +2)% + (y + 4)% = 25.
(#2)%4(g+4)* 225
Gy«()* 226

Aty 226
193 £ 29

(&) does vof

lie on the
wae

37. Jamie is designing a park and wants to include a carousel. On a blueprint, suppose that the center of
the carousel is at the origin and that one of the railings on the circumference of the carousel has
coordinates (3, 4). N center (0,0)

a. Write an equation to represent the circular path the carousel follows as it spins.

radws = { (3-0)%(u-0)* < ()% (u)* = Na+lb z J25 <5

Ctm'tY (0,0) Eqn: (x_o)l+(g_0)2162 D lxl+91:,16 ’

b. If one unit on the coordinate plane is equivalent to 1 foot, find the diameter of the carousel.

radtus= 6 ft

diameltr: 6r2 . lon]




